50 NOTES

1. ALL NEW STEEL TO BE GRADE S355

50 ELEVATION OF 2. ALL WELD STRENGTHS TO BE COMPATIBLE WITH THE

EXISTING UKB203 x 133 STRENGTH OF THE MATERIALS THAT THEY JOIN. WELDS ARE

! 70 BEAM TO BE A MINIMUM OF 6mm FILLET WELD (LEG LENGTH).

. , 3. BOLTS ARE TO BE GRADE 8.8, MINIMUM SIZE M16.

4. SITE WELDING SHALL BE REQUIRED AS PART OF THESE WORKS
(BASE NODE - DETAIL D). SURFACES OF THE EXISTING
STRUCTURE TO RECEIVE WELDING SHALL BE PREPARED
REMOVING ALL EXISTING PAINT AND SURFACE
CONTAMINATIONS PRIOR TO THE WELDING OPERATION.
CORROSION PROTECTIVE SYSTEMS AND FINISHING COAT TO BE

10mm CONNECTION PLATE APPLIED AFTER WELDING MATCHING THE EXISTING.

5. SITE MEASUREMENT OF THE DISTANCE FROM THE FINISHED

15mm TONGUE PLATE (ALL FLOOR LEVEL TO THE EXISTING BEAM SHALL BE REQUIRED IN

BEAM CONNECTIONS ORDER TO SET-OUT THE WIND FRAMES. ALL OTHER

SIMILAR) WITH HOLE FOR DIMENSIONS ARE PROVIDED.

M20 BOLT (GR 8.8) INSTALLATION SEQUENCE

THE PRINCIPAL STEPS OF THE INSTALLATION ARE AS FOLLOWS:

A. REMOVE CEILING FINISHES TO A SUFFICIENT EXTENT TO
ALLOW ACCESS TO THE UKB203 x 133 STEEL BEAM (LOCATED
ABOVE THE CEILING) FOR THE PLANNED NEW BOLTED
CONNECTION. MEASURE THE REQUIRED DIMENSION FROM THE
FLOOR TO THE BEAM (SEE DRAWING).

B. ITIS ADVISED TO INSTALL A TEMPORARY BRACE AT THE

) $ EXISTING BLOCK-WALL WALL PRIOR TO THE REMOVAL OF THE

- . F— - WALL. THIS TEMPORARY BRACE MAY COMPRISE A X-BRACE

ELEVATION FORM JOINING THE CORNER REGIONS OF THE STEEL FRAME

THAT IS WITHIN THE PLANE OF THE WALL. ALTERNATIVELY, THE

DETAIL C - NODE ASSEMBLY USE OF RAKING PROPS (ADOPTING SYSTEMS SUCH AS 'SYSTEM

- 160' BY MABEY OR SIMILAR) TO PROP THE COLUMN / BEAM

INTERSECTION RESTRAINING THE FRAME IN THE DIRECTION

(Scale 1:10) PARALLEL TO THE WALL TO BE REMOVED. TWO SUCH PROPS
e% COULD BE USED, ONE EACH SIDE OF THE WALL TO ACHIEVE

DETAIL SHOWN IN SECTION

4 x M16 BOLTS (GR 8.8)

O
s
-

DETAIL A !
7175 !
NOTE THAT THIS DIMENSION IS APPROXIMATE, BASED ON MEASUREMENT 6mm FILLET WELD

S e . TAKEN AT SITE WITH A SIMPLE MEASURING TAPE. ! ALL AROUND 2 o 35

o

DETAIL SHOWS THE
/ EXISTING UKB203 x 133 BEAM TYPICAL BOLT SPACING

TO BE ADOPTED FOR ALL SECTION
CONNECTIONS MADE TO -
THE EXISTING UKB 203 x
133 BEAM.

FOLK END DETAIL

P ASSSS

22

V24

NANANNNNNN 72777
S22

(APPROXIMATE LEVEL OF CEILING SOFFIT)

N o~

BOTH FRAMES ARE IDENTICAL,

BUT SYMMETRICALLY OPPOSITE
THIS, RAKING FROM THE FLOOR LEVEL UP TO THE EDGE BEAMS

AT THE OUTER PERIMETER OF THE BUILDING, CLOSE TO THE
BEAM / COLUMN CONNECTIONS.

C. WITH THE X-BRACE OR THE RAKING PROPS IN PLACE, REMOVE
THE BLOCK-WORK WALL COMPLETELY WITHIN THE ZONE
BETWEEN THE OUTER AND INNER COLUMN

D. MARK-OUT ALL BOLT CONNECTIONS AND MAKE HOLES FOR
NEW CONNECTION. IT IS ADVISABLE TO CONSTRUCT A
TEMPORARY ACCESS PLATFORM AT THE BEAM POSITION TO
FACILITATE THIS.

E. PREPARE THE LOW LEVEL COLUMN POSITION FOR THE WELDED
CONNECTION, AND TAKE MEASURES TO PROTECT OTHER
OPERATIVES FROM THESE WORKS.

F. MAKE THE WELDED CONNECTION FOLLOWING RELEVANT

PROCEDURES FOR HOT WORKS. THESE SHALL INCLUDE

PROTECTION OF OTHERS FROM HIGH INTENSITY LIGHT

SOURCES AND MINIMISING THE DISTRIBUTION OF HOT

PARTICLES DURING GRINDING. PROVIDE A WRITTEN METHOD

STATEMENT IDENTIFYING THE MEASURES BEING TAKEN TO

ENSURE THE SAFETY OF SELF AND OTHERS PRIOR TO ANY

WELDING OR WELD PREPARATION.

INSTALL THE WIND FRAME ASSEMBLIES, AND REMOVE THE

TEMPORARY BRACE ELEMENTS AFTER COMPLETION.

[ _
A

NOTE THAT ONLY THE STEEL MEMBERS OF THE EXISTING BUILDING ARE
SHOWN IN THESE DETAILS. THE FULL EXTENT OF THE ROOF TRUSSES ARE
NOT SHOWN ON THIS DRAWING. IT IS HIGHLY UNLIKELY THAT ANY
MODIFICATION TO THE EXISTING TIMBER ROOF TRUSSES SHALL BE REQUIRED
IN ORDER TO INSTALL THE PLANNED WIND FRAME SHOWN ON THIS DRAWING.

EXISTING SHS140

(CORRIDOR THIS SIDE)

—— 6mm FILLET WELD ALL
AROUND PLATE PASSING
THROUGH SHS.

SITE MEASURE REQUIRED
ELEVATION THIS SIDE)

EXISTING SHS140 (EXTERNAL

F —_

——————

100

]

\ -
AN

(LINE OF FINISHED FLOOR)

[ S ——

. ELEVATION ON WIND FRAME

(WIND FRAME SHALL BE IN THE PLANE OF THE STEEL FRAME AT WALL LOCATION PLANNED FOR REMOVAL) NEW ELEMENT
(Scale 1:25) CENTRE-LINES

©

ELEVATION SECTION 01

INTERSECTION NODE PLATE LAYOUT

(Scale 1:10)

1 20/03/20 ISSUED FOR TENDER MR MR

Rev Date Description By Chkd.

}\< Client:

[ DIMENSIONS TO THE NODE POINTS OF

THE NEW WIND BRACE ELEMENTS.
1165 1195

10mm FLAT PLATE
WELDED TO EXISTING
SHS140 COLUMN

EXISTING TIMBER TRUSSES
ORIENTED LONGITUDINALLY
ALONG THE BUILDING (PARALLEL
WITH THE CORRIDOR BELOW)

HOLE FOR M20 BOLT (GR 8.8)

EXISTING BEAM CONNECTIONS 6mm FILLET WELD ALL AROUND THE 10mm

FLAT PLATE CONNECTING TO EXISTING Broiect:
COLUMN. SURFACE OF EXISTING COLUMN roject:
TO BE PREPARED FOR WELDING.

270

EXISTING STEEL BEAM OF SIZE UKB203 x 133

4 x M16 BOLTS (GR 8.8) AT EACH SYMBOLISING 15mm STEEL TONGUE PLATE
CONNECTION (3 NEW CONNECTIONS NODE POINT
FOR EACH SIDE OF THE BAY)

, - \ e
@ |

— e — _4/?_ e —— -— - — - — LINE OF FINISHED FLOOR

| @ | ) ! :

i‘];"l:! / !

i =)
N \ /‘” ) ‘9 74
\% 7N R S— g ELEVATION SECTION 02 GENERAL ARRANGEMENT
N /] WIND FRAME

p
____________ !y
_

6mm FILLET WELD
ALL AROUND

oo, S NN

630

DETAIL D - NODE ASSEMBLY

! (Scale 1:10)

EXISTING STEEL PLATE
CRADLE SUPPORTING
EXISTING ROOF TRUSSES.

SHS90 x 90 x 6.3mm (ALL)

Scale @ A1: 1:10, 1:25

HOLE FOR M20 BOLT (GR 8.8)

(03
)

Prepared by: Checked: Date:
MR MR 20 MAR 20

Project Director: M Richards
Drawing Status: TENDER

AN

7
A

| ——

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

EXISTING COLUMN :

CURRENTLY WITHIN THE !

WALL FINISHES. COLUMN !
SIZE SHS140 x 140. L

< /) ALL NEW ELEMENTS TO BE
Y/ SHS90 x 90 x 6.3mm (HOT
/ FINISHED SHS).

10mm CAP END PLATE

6mm FILLET WELD
ALL AROUND

110

Consulting Engineers

Garment Building

9 Fishers Lane
16 London

W4 1RX

e[ NEs ta.
V

50
r
\
=7

/ 2 x 10mm STEEL

DETAIL A - BRACE NODE DETAIL A ONNECTION

) 6mm FILLET WELD ALL
(Scale 1:10) AROUND PLATE AT
INTERFACE WITH SHS
(BOTH SIDES OF SHS)

6mm PARTIAL PENETRATION
BUTT WELDS TO PLATES OF

Q0
o

'FOLK' END (WELDED FROM
THE OUTSIDE FACE)

15mm PLATE PASSING THROUGH
TH”I;mSHS SECTION. SLOT CUT IN ELEVATION SECTION 03

SHS TO ACCOMMODATE.

tel: +44 (0) 7587 060616
e-mail: Mark.Richards@nesta-ltd.com

TYPICAL FOLK END ASSEMBLY

(Scale 1:10)

DETAIL B - NODE ASSEMBLY orawingNo: DO /007/S002 1

Revision:




	Sheets and Views
	S002


